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X5 faA - SREN A 28 X5 Hhig F 24 HRFH
hE 955,000 mE B ARED6% ((AH ABE+HHIEF ) xBHBME (1. 2) x ZXHEE 4. 28)
Blh& 785,000 Blh& HHARED6% ((AH ABE+HHIEF 5) xBBME (1. 2) x ZXHEE 4. 28)
HEE 716,000 BER HBH AZED6% ((eH A%+ F L) xBHEME (1. 2) x X#BENE (4. 28)
EHEERE 654,000 BEHEEZRE HBH AZED6% ((eH A%+ F L) xBHEME (1. 2) x X#BENE (4. 28)
KEEXEESE 654,000 KEEXEEE (HHAZED6% ((eH AR+ F L) xBHEME (1. 2) x X#HEE (4. 28)
e 663,000 ] L $REN A ZE < BFSINE (1. 2) x KBNS (4. 2R)
R 593,000 I L $REN A ZE < BFSINE (1. 2) x KBNS (4. 2R)
EE 573,000 EE L $REN A ZE < BFSINE (1. 2) x KBNS (4. 2R)
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fakt - BN A 28 Hhig F 4 510) ABIHEQ@Dx*x12A) HARFHO FH(@+®)
mE 955,000 57,300 1,012,300 12,147,600 |(955,000+57,300) X 1.2 X 42= 5,101,992 17,249,592
BITHE 785,000 47,100 832,100 9,985,200 |(785,000+47,100) X 1.2 X 42= 4,193,784 14,178,984
HEE 716,000 42,960 758,960 9,107,520 |(716,000+42,960) x 1.2 X 42= 3,825,158 12,932,678
HEHEAERE 654,000 39,240 693,240 8,318,880 |(654,000+39,240) X 1.2 X 42= 3,493,930 11,812,810
KEELEEE 654,000 39,240 693,240 8,318,880 |(654,000+39,240) X 1.2 X 42= 3,493,930 11,812,810
& 663,000 — 663,000 7,956,000 |663,000 X 1.2 X 4.2= 3,341,520 11,297,520
R 593,000 — 593,000 7,116,000 |593,000 X 1.2 X 4.2= 2,988,720 10,104,720
=4 573,000 — 573,000 6,876,000 573,000 X 1.2 X 4.2= 2,887,920 9,763,920
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HE 955,000 X 48 A x 36/100= 16,502,000
BITHE 785,000 X 48 A x 20/100= 13,564,000
HEE 716,000 X 48 A x 16/100= 12,372,000
HWEBERRE 654,000 X 48 A x 16/100= 11,301,000
KEEZLEEE  |654,000% 48 x 16/100= 11,301,000
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